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PART - | (PHYSICS)
A | (Hifd® fasm)

The slope of velocity — time graph of the motion of a body represents.

(A) Distance (B) Displacement (C) Speed (D) Acceleration
IN—FHY A% BT Fbrd, b b1 qwiian 28—

(A) (B) fazema (C) Tfey (D) wRv

A body moving uniformly along a circular path has

(A) Same direction of motion (B) Constant velocity

(C) Constant speed (D) Variable speed

TEH g 99 R U AN w9 W o aren s o eI ©

(A) wa 4 feem & ot (B) Rer 9 (C) Rer wfa (D) =R 9T

S.I. unit of force is

(A) Dyne (B) Newton (C) Erg (D) Joule

g B S.l. THIE B—

(A) S5 (B) =g (C) o (D) 51
Newton'’s first law of motion is also known as

(A) Law of momentum (B) Law of force (C) Law of inertia (D) Law of energy
ged @ A H v R B R iR AWM | S et @ 7

(A) |97 &1 A (B) 91 @1 ™ (C) Srsw &1 fm (D) =t &1 form
The physical quantity which is the product of mass and velocity of a body is known as

(A) Inertia (B) Force (C) Momentum (D) Energy
ST G 9 BT TG B B HIfds A BT FH BRI 2—

(A) STeca (B) 9 (C) e (D) St
Relation between force, mass and acceleration is given by

(A) Newton’s first law of motion (B) Newton’s second law of motion

(C) Newton’s third law of motion (D) Newton’s gravitational law.

I, SIEE 9 TRO & A G9Y fra Frow & gry e e -

(A) ged & T &1 o frH (B) ged & Wfa &1 fg<ira fraH

(C) =ged & Tifa &1 o a4 (D) ged &1 [HATHYY Bl s
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7. Uniform circular motion of an object is

(A) non — accelerated motion (B) Accelerated motion

(C) uniform motion (D) None of these

T AN g A A FAd aren fUws grar g ?

(A) IR — @Rd (B) @Ra (C) T& |9 a1 (D) 79 | I3 T
8. In SONAR, we use

(A) Infrasonic (B) Radio waves (C) Audible sound waves (D) Ultrasonic waves

AR # {5 YBR @1 TR BT YA fHar Sirar 27

(A) a5 (B) Xfear a3t (C) s1&a &fy a7 (D) wRreaf® a<A
9. The value of ‘g’ will be maximum at

(A) The equator (B) The top of Mount Everest

(C) The poles of the earth (D) The Kutab Minar

e BT AAHIH A BBl UR Bl &

(A) HET @l (B) YN Udd & N W

(C) 9ot & A (D) g3 fR
10. The pressure exerted by a solid decreases with the increase of :

(A) Force (B) Area (C) Momentum (D) Velocity

e WIfe I & e’ IM W W 39 I §RT I W arel &9 7 HH el 2

(A) 9 (B) &%l (C) | (D) 9

PART - Il (CHEMISTRY)
AR |l <A fa=sm)

11. Which of the following statements is/are correct ?

(A) Interparticle spaces are maximum in the gaseous state of a substance.
(B) Particles which constitute gas follow a zig-zag path.

(C) Solid state is the most compact state of substance.

(D) All are correct.

frfafad § @ ST HUF 98 7 ?

(A) uetef & A Sraven # o MId SawTe W Afdd BIaT B
(B) I & HuT R u # Wy et ?

(C) 3T 3faRerl ugre & ¥ ST |+l 3faReAT B

(D) |t W& B
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12.

13.

14.

15.

16.

When a liquid starts boiling, the further heat energy which is supplied :
(A\) is lost to the surrounding as such

(B) increases the temperature of the liquid

(C) increases the kinetic energy of the liquid

(D) is absorbed as latent heat of vaporization by the liquid.

%d ST Y 8 S & 918 Q1 S dTell ol a1 B A ©
(A) ATETERYT # I B S § |
(B) d &1 T dIeil & |

(C) =@ & TIfasT Soll 9 2 |
(D) @ B WY H 95 & oY MMEeTS I &) T S § 98 Wh © |

When common salt is added to ice :

(A) Its melting point decreases (B) Its melting point increases
(C) Its melting point does not change from 0°C (D) Ice becomes harder

T AR THG DI 9% A Herdr S g |

(A) 3@ T g w9 21 oI 2 (B) sa®T T g 9 oI B |
(C) % & T fa=5 0°C 3 15 uRRadd T8l A © | (D) 9% ITGT SR B STl 2 |

Ice is floating on water in a beaker when ice completely melts then level of water in beaker :

(A) Increases (B) Decreases (C) Remains the same (D) First increases decreases
PR & U H g R B 2 | I} I' G RE UEd IRl fieR B Ul & WR A 1 gRacE 81 ¢
(A) I (B) & (C) a8 = (D) et e 9 fhr g

Which of the following statement is not true about true solution?

(A\) It can pass through filter paper

(B) It is homogeneous in nature

(C) At constant temperature, particles of solute settle down.

(D) From a true solution, the solute can easily be recovered by evaporation or crystallisation

IrRafdd s & IR H§ BHAl BT FEl T8 8 7

(A) T8 fheex TR ¥ fda SR

(B) I A UHfA &1 B

(C) ReR T9A™ WR faad & &7 dd WR 98 4 &

(D) arsifdes faetaa & ferg & ®o1 ardd gIRT A1 fhveciidrvl §R1 a6y o |ahd @

Which method is used to separate the various coloured pigments present in a substance?

(A) Sublimation (B) Chromatography  (C) Centrifugation (D) Evaporation
=i uered # SuRerd fAff= 1 & I9Td! B god o= & forg fovd fafy &1 sua fean e 2
(A) SEaTda (B) SIHCTIT®H (C) sua=raarvl fafy (D) arsdiavor
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17. In which of the following, dispersed phase is a liquid and dispersion medium is a gas ?
(A) Cloud (B) Smoke (C) Gel (D) Soap bubble
=1 & @ fw o faaRa sawen g9 8, 9 fawro Arem 9 2
(A) 91 (B) gam (C) Sia (D) |IgT &
18. What type of colloidal system is fog ?
(A) Gas in liquid (B) Liquid in gas (C) Liquid in liquid (D) Solid in gas
DI fHA TWE $ Plasiead T3 o—
(A) &g # (B) M # &a (C)za % =@ (D) %9 # 3N
19. Which of the following reactions is not balanced ?
=1 | P wrafe st dgfoa & ® ?
(A) 2NaHCO3 —— Na2C0Os + H20 + CO2 (B) 2C4H10 + 1202 —— 8CO2 + 10H20
(C) 2Al + 6H20 — 2AI(OH)3 + 3H2 (D) 4NH3 + 502 —— 4NO + 6H20
20. Three elements A, B and C have atomic number Z-1, Z and Z+2 respectively. B is a noble gas. The
compound between A and C will be :
A9 ac A, BT C & URHIY AP Z-1,Z3RZ+22 9 BUS fshy I &, @l Ad C &1 Al 8
(A) CA2 (B) CA (C) C2A (D) CA3
PART - lll (BIOLOGY)
- I (Sha fasm)
21, Which of the following is the longest cell of Animal Kingdom ?
(A) Bacteria (B) Nerve cell (C) PPLOs (D) Human Egg
ST A BT AT B FIH ] DIRIGT FGRId § | B A1 87
(A) SR (B) df3ra1 wifret (C) drdrgersn (D) 911G 37T
22, Which one of the following is the smallest in size?
(A) Bacteria (B) Mitochondria (C) Mammalian cell (D) Virus
/1 # & D9 MHR H HaH BICT 57
(A) SFER (B) #IgTTHmIfgA (C) et HIfrahT (D) aR”RH
23. Which one is present in bacteria?
(A) Nucleus (B) Golgi apparatus (C) Mitochondria (D) Ribosomes
o1 % 9 T SRR § U rar g 7
(A) =Ifoeraa (B) Mt SUYHRT (C) wTscIdmf~gan (REEISIE]
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24, Tissue term was coined by -
(A) Bichat (B) Nagelli (C) Robert hooke (D) Robert brown
SHdd V< fhad gRI e o —
(A) feie (B) ArIfer (C)aC & (D) x§€ 919A
25. Study of tissue is known as -
(A) Histology (B) Cytology (C) Cell Biology (D) None of these
FHAPD BT AT 9 ©U H ST Sl & —
(A) fexeTersh (B) HATSEITSH (C) @It Sfiafds (D) S8 9 @13 W1 81
26. Special feature of dividing cells is -
(A) Large lacuna (B) Thick cell walls
(C) Dense cytoplasm devoid of lacuna (D) Large intercellular spaces
fawifora dIRTERN &1 favy deor e g —
(A) TSI G (B) AT et A
(C) oI | fed &1 AscwroH (D) 92 JAAHIRTHIT JATHTA
27. Areolar tissue is a -
(A) Nervous tissue (B) Muscular tissue (C) Connective tissue (D) Epithelial tissue
WIeR SdH P & —
(A) T®ET HdD (B) #rueht Sdw (C) ISl SHad (D) SUGAT Hdd
28. The functional unit of nervous tissue is called as -
(A) Cyton (B) Synapse (C) Neuron (D) Axon
AI®T SHad o HATHS FHIS DI Hal Sl & —
(A) |TSCH (B) 3=t (C) df>ifdrd1 (RRA) (D) dfrmre
29. Fluid part of blood after removal of corpuscles is -
(A) Plasma (B) Lymph (C) Serum (D) Vaccine
FHUAH BSM & 9% Th BT 59 R 8 —
(A) wITSHT (B) formm (C) ¥R (D) &1
30. Cambium is a
(A) Root meristem (B) Apical meristem (C) Lateral meristem (D) Intercalary meristem
B 7
(A) e favsards (B) 3iftwa fawsaras  (C) ured favsaras (D) SRBA fAvsard®
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PART-IV (GENERAL AWARENESS)

AR- IV (™= 319)

31.

32.

33.

34.

35.

36.

37.

The Fundamental Rights granted to the Indian Citizen can be amended by the :

(A) Vice-President (B) President (C) Parliament (D) Prime Minister
AR RS &1 3y 1Y Hiferds MeRT # Foem fS9a gR1 fhar S Ao g7
(A) SIRTLUf (B) Irzafay (C) = (D) ygr=AT

is the death of children under one year of age.
(A) Mortality Rate (B) Death Ratio (C) Early Death Rate (D) Infant Mortality rate
TH a9 A HH Y B gedl DI A B |
(A) TY X (B) Fg srgurd (C) I g =R (D) Ry 7y =

Adolf Hitler was born on :

TSk fecelR &1 W e g3l AT ?

(A) 1887 (B) 1888 (C) 1889 (D) 1890

The 1878 Act divided forests into :

(A) Four categories (B) Two categories (C) Three categories (D) Five categories
1878 faf g 7 SivTall @l fawifora fasan

(A) TR S (B) =1 Aifori (C) &= sifori (D) ura sifor
Camel grazing in western Rajasthan is practiced by :

(A) Bhils (B) Meenas (C) Gurjars (D) Meru Raikas
¥R ISR # S RIS BT MW 9 UHR fhar Sram © ?

(A) e (B) i\ (C) o (D) 7% B

Name the group of islands lying in the Arabian Sea.

(A) Andaman and Nicobar

(C) New Moore

(B) Lakshadweep
(D) None of these

3RY AR H Rerd g1d1 & WHE BT T < |

(A) 3sqM 3R FpER  (B) wlergly (C) = R (D) s & B1g 7T
The southern most tip of Indian Union is :

(A) Indira Point (B) Tuticorin (C) Trivendrum (D) Kanya kumari
YRR W A SR wa E gRe & ?

(A) 3faw1 @rge (B) TeraIRA (C) frd=m (D) BT HARY
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38. Which island group country is not larger than India ?
(A) Russia (B) USA (C) China (D) France
D G EU TG S IR F g9 T8l 27
(A) B (B) U= (C) & (D) Wi
39. Prime Minister Rozgar Yojna was started in :
TEHS OHR Aol o ay 3 ge @ T o ?
(A) 1993 (B) 1995 (C) 1999 (D) 2003
40. The National Assembly completed the drafting of constitution in :
TR el W AAHH & 4G P g1 fba ?
(A) 1791 (B) 1779 (C) 1782 (D) 1792
a1. The Russian Parliament under the Tsars was called :
(A) Congress (B) Duma (C) Diet (D) Nassat
TR & Ted ©dl G9a DI g 741 o ?
(A) PR (B) 3 (C) smer (D) e
42. The sector which includes agriculture, forestry, animal husbandry, fishing, poultry, farming and mining :
(A) Primary Sector (B) Secondary Sector  (C) Tertiary Sector (D) All of the above
9 & 9 G, aifrasl, UYUTe, ABell Ybhed], Baghe, WAl AR T AMH 8—
(A) MRS &= (B) At &x (C) Tia® &= (D) Swiad T+t
43. The tropic of Cancer does not pass through :
(A) Rajasthan (B) Odisha (C) Chhattisgarh (D) Tripura
P QT Pl A el oiRell & 7
(A) ORI (B) S (C) BRI (D) gt
44. A joint sitting of the two Houses is called by :
(A) The Prime Minister  (B) The President (C) The Speaker (D) The Deputy Speaker
ST FeHl @ GIh 6P Pl gl Sl ©
(A) v #1301 (B) Irzafa (C) \wmfa (D) Su |¥mfd
45. Which of the following is permanent executive.
(A) President (B) Prime Minister (C) Civil Servents (D) Chief Minster
T W DI AT R SRR B |
(A) Irzafcy (B) wemTHA (C) Wi el (D) geaHa
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PART - V (MATHEMATICS)
A= V (110ra)

46.

47.

48.

49.

In figure, if QT L PR, ZPR, ZTQR =40°and ~SPR =30° then find the value of Y’ ?
form #, af QT L PR, £PR,/TQR=40° 3R /SPR=30°T ‘Y’ &1 A 3 BT ?

(A) 70° (B) 110 ° (C) 90° (D) 80°
Two parallel lines have :

(A) A common point (B) Two common point

(C) No common point (D) Infinite common points

T AR @MW 8

(A) & SIS fig (B) 71 SwafTs fdg

(C) 313 IS fdg -T&i (D) 3 WIS fdg

In figure if AB || DF, AD || FG, ~BAC =65°, /ACB =55°Find ~FGH
7= # af< AB || DF, AD || FG, #BAC =65°, Z/ACB=55° @I ~FGH & |

A F
65°
550 C E -
B \/ G H

(A) 125° (B) 30° (C) 20° (D) 145°

lfa+b=6andab=8,thenad+b3=..............
JTa+b=63Rab=8 @ad+bd=.............
(A) 18 (B) 36 (C) 54 (D) 72
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50.

51.

52.

53.

54.

lfx+y=1thenx®+y3+3xy=.....

(A)O (B) 1 (C)2 (D) None of these
T x+y=1B x3+y3+3xy=.....
(A)O (B)1 C)2 (D) 379 & B1g &l
(\/_ \/_) +4J_:§ then the value ofa:bis :
a-b 3’
(\/_ J_)b+4J_ S da:b @A
a
(A)1:16 (B)1:4 (C)4:1 (D) 16 : 1

If x=3+8 and y=3—+8 then l2+i2=
y

E x=3+/8 3R y=3- J_ﬁﬂ’_+_:
y?
(A) — 34 (B) 34 (C) 1248 (D) —128

In the given figure, ABCD is a rhombus. If #A =70°, then ~CDB is equal to
fay T 7 4, ABCD U& ¥¥=gysl © | afc <A =70° @ ~CDB BF—

D Rx C

. 70°

A B
(A) 65° (B) 55° (C) 75° (D) 80°
PQRS is a square, PR and SQ intersect at O. The measure of ZPOQ is
(A) 45° (B) 90° (C) 180° (D) None of these
e v PQRS # Ife PR wd SQ fag O W ufusfed &=cft 8, @1 ~POQ & :
(A) 45° (B) 90° (C) 180° (D) S9H & PIg &I
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55. ABCD is a parallelogram. ADEC is drawn such that BE = %AE . Sum of the areas of A ADE and ABEC is

D C
A B
F E
1 1
(A) 3 area of parallelogram ABCD (B) > area of parallelogram ABCD
2 1
(@) 3 area of ADEC (D) > area of ADEC

ABCD U&% WHitR ag¥sl © | ADEC $9 &R U1 dien oian &, f& BE =%AE.AADE3ﬁ'\’ABECa\3 &=

BT AT B |
D C
A - E B
(A) % ABCD |ATR ag4sl &1 &F%d (B) % ABCD ¥HI<R Igdl &1 8%
(C) % ADEC &1 &=1%d (D) % ADEC &1 &5rat
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56.

57.

58.

59.

In the figure PQRS is a rectangle, which one is true?

P S
B
A
Q R
(A) area of AAPS = area of AQRB (B) PA=RB
(C) area of APQS = area of AQRS (D) all of these
afs g § PQRS U& A4 B, HieT AT TT g ?
P . S
A
Q R
(A) &1 &3 AAPS = &1 &3 AQRB (B) PA = RB
(C) @1 & APQS = &1 &3 AQRS (D) T w+ft

In a circle of radius 10 cm, the length of chord whose distance is 6cm from the centre is :
10 31 91el g1 #, Sitar @ oS @ B, el g8 s | 6em © ¢
(A) 4 cm (B) 5cm (C) 8cm (D) 16 cm

The unequal side of an isosceles triangle is 6 cm and its perimeter is 24 cm. Find its area.

e |Afgarg B @ A Yol 6 A1 & IR sH@! uRf 24 cm B, A1 &5%d 811 :
(A) 6y2cm? (B) 12/2cm? (C) 18v2cm? (D) 242 cm?

O is the centre of a circle, AB and CD are two chords of the circle. OM 1 AB and ON 1 CD. If
OM =0ON =3 cm and AM = BM = 4.5, then CD =
O &= dlal g H, AB IR CD 9 @I ]I Siraié OM | AB @21 ON L CD afs OM = ON = 3 cm der

AM=BM =458 d CD =

A

B

C~N_~—D
(A)9cm (B) 10 cm (C)8cm (D) 6 cm
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60.

61.

62.

63.

64.

65.

If the sides of a triangle are doubled, then its area :

(A) Remains the same (B) Becomes doubled

(C) Becomes three times (D) Becomes four times

Ife Bl & &R SR 81 9 2, @1 39T aawd

(A) &Y T& B (B) ]I B I B

(C) &= T[T B S B (D) @R AT B I B

In triangle if each side of triangle is halved then what is the % change in its area.

(A) 75 % increase (B) 75% decrease (C) 25% increase (D) 25% decrease
e 2ot @1 TS Yol B e a1 S & A IqD &5l § % uRaca a1 e ?

(A) 75 % dfg (B) 75% &I (C) 25% gfg (D) 25% HHI

A triangle of area 9y cm? has been drawn such that its area is equal to the area of an equilateral
triangle of side 6 cm. Then, the value of y is :
9y cm?2 &%l BT S 59 YBR Wil 1 & b SHBT &b 6 cm &I oIl dlel FHEg S & &A%

% TER 8 Al y BT A BRN—
(A) V2 cm (B) V3 cm (C)2cm (D) 3 cm

Consider a hollow cylinder of inner radius r and thickness of wall t and length /. The volume of the
above cylinder is given by :

HeIT PIY b THh WRIelT I & Tad! 351 r, AleE t T w18 /8 O Sad dodd BT A1Id- 8 -

(A) 2n0(12 ~ ) (B) 2nra(zl+1j (©) 2nt(r + ) (D) 2nrt(r +1)
r
The radius of a wire is decreased to one — third. If volume remains the same, the length will become :
(A) 1 time (B) 3 time (C) 6 time (D) 9 time
TH IR $1 531 U A8 9@ g 11 2 | Afe Iad 981 8 a1 oF s a1 si—
(A) 1 (B) 37 (C)6TM (D)9 T

A bag contains three green marbles, four blue marbles, and two orange marbles. If a marble is picked
at random, then the probability that it is not an orange marble is :

UH 97 H 9 & W & URR, IR Al @R, R 3 IR TR 8 © | e TP UeR &l AIfeod wU |
AT I &, A |9 8 fb 98 U AR geR TEi a—

A1 B) 1 4 D
()4 ()3 (C)9 (D)

©|~
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PART- VI (MENTAL ABILITY)
AR VI \HRIS argar)

Directions : (66 to 67) Find the missing numbers : 3UReIT 3i® @i

66.

67.

68.

69.

70.

71.

31,29,24,22,17,7,7?

(A) 15, 13 (B) 10, 8 (C) 14, 12 (D) 15, 10
4,9, 19, 34, 54, ?
(A) 66 (B) 75 (C) 79 (D) 84

Five books are lying in a pile. E is lying on A and C is lying under B. A is lying above B and D is lying
under C. Which book is lying at the bottom?

U fHde (6 & SW T W 1 ELA D SWIE 28I C, B A ® ABS IWNR e D, C o
E & | DAl fhare w99 A9 dl 7

(A) A (B)B (C)C (D)D

Find the next term of the given pattern

faq Mg Yet &1 e ug Far B ?

2Z5 4Y7 7X9  12W11 19V13 ?

(A)30U24 (By3oU15 (C)28U15 (D)28U 14

Look at this series : 36, 34, 30, 28, 24 .... which number should come next ?

9 %Gl Bl <@l : 36, 34, 30, 28, 24 ... ITCll BIF W HET A AMBY?

(A) 20 (B) 22 (C) 23 (D) 26

The figures given below are divided into certain parts. Each part bears a number and one part is blank.
Numbers follow a certain pattern of rule. You are required to analyse the given figures and then fill in
the blanks.

I iy 78 argfa o Rl d i 21 I@s Wi R Us S ol iR ue R @l § ) e
frm & v fARea Ut &1 urem @R B | Ut Ry MU el # e @1 favelyor eRer ® SR R

el WA 9RAT 2 |
42113 36|13 W

(A) 33 (B) 88 (C) 14 (D) 24
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Direction : (Q 72-74) Read the following informations and answer the questions given below it :

Five girls are standing in a circle facing the centre. Suman is between Lata and Asha. Mamta is to the
right of Lata.

e 1 (Q 72-74) A 1 T TSR BT AeqIF HINY iR qearq fFrfalad geai &1 s Oy -

72.

73.

74.

75.

T ASfhAl JUBR W TSl 8 IR I GBI 8 D= DI AR ©, A AR AR S 1 H AT 8 | 7l
A B TS AR B

If Rajni and Asha interchange their positions, then which of the following statements will be the correct
one ?

(A) Suman would be third to the left of Mamta

(B) Asha would be between Lata and Rajni

(C) Lata would be second to the right of Asha

(D) None of these

I IS 3R SR IRRWR U UM 95l of, a1 fFr=foRaa #§ 9 d9—1 $29 |8 8 ?
(A) GH, 91 & 918 R TR TR TR B

(B) 31mem, ol iR Il & 1 BN

(C) <, 3MM=M & IS 3R AN TR W BFN

(D) S ¥ Big &l

Who is to the left of Asha if Rajni is the fifth girl ?

(A) Mamta (B) Asha (C) Lata (D) Rajni
IfE IS UTEd FRR UR g, A1 3T B 978 MR BIF B P
(A) HHaT (B) = (C) o (D) ST

If Suman and Mamta interchange their positions, who will be fourth to the left of Rajni?

(A) Lata (B) Suman (C) Asha (D) Mamta

I AT SR AAAT IRER 301 W 8 o, Al ol & 915 AR A T¥R UR DI 8RN ?
(A) <<t (B) g&d (C) 3tr=m (D) HHaT
Stammering is to Speech as Deafness is to :

(A) Ear (B) Hearing (C) Noise (D) Silence

Sl @y gHor 3R Al & di9 g, 98 Gag IE8ud & 91 fhear g ?

(A) ®1 (B) sravrerfaa (C) ¥R (D) =t~
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ANSWER KEY
CLASS-IX PAPER-1

1. D) 2 ) 3. B) 4 (C) 5. C) 6. B 7. (B)
8. (D) 9. @ 10. (@B 1. (O 12. (DO 13. (A) 14  (C)
5. (C) 16 (B 17. (A 18 (B 19. (B) 20. (A 21. (B)
22 (D) 238. (D) 24 (A) 25. (A 26. (C) 27. (C) 28 (C)
29. () 3 () 3. (C 32 (O 3 () 38 (C) 35 (D
3%. (B 37 (A 38 (D) 39. (A 4. (A 4. (B 42 A
43. (B) 4. (B 4. (C) 46. (D) 47. (C) 48 (A) 49. (D)
50 () 51. () 52 (B 53 (B 54 (B) 55 (B) 56. (D)
57 (D) 58 (C) 59. (A) 60. (D) 61. (B) 62. (B) 63. (B)
64. (B) 65 (D) 66. (D) 67. (C) 68 (D) 69. (B) 70. (B)
7. (O 72. (D 7. (D) 74 (C) 75 (B)
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